KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION

Form ACO-1 September 1999 Form Must Be Typed

JAN 1 6 2002

WELL COMPLETION FORM

WELL COMPLETION FORM			A 1
WELL HISTORY - DESCRIPTION OF WELL & LEASE P	G	IN.	ΑJ

TON ONICION PONILIDENTIAL	Official
CONSERVATION CUNFILLENTIAL	API No. 15 - 175-21865-0000
Name: Stelbar Oil Corporation, Inc.	County: Seward 59 N of 1
Address: 155 North Market, Suite #500	59 N of NW1-SE1SE1 Sec. 18 Twp. 31 S. R. 32 East X West
City/State/Zip: Wichita, KS 67202	1049 feet from S/ N (circle one) Line of Section
Purchaser: PRG, LC	990 feet from (E)/ -W* (circle one) Line of Section
Operator Contact Person: Roscoe L. Mendenhall	Footages Calculated from Nearest Outside Section Corner:
Phone: (316) 264-8378	(circle one) NE SE NW SW
Contractor: Name: Abercrombie RTD, Inc.	Lease Name: Lower Well #: 1-18
License: #30684	Field Name Shamrock NE
Wellsite Geologist: Dave Goldak	Producing Formation: Atoka and Morrow
Designate Type of Completion: / JAN 1 4 2002	Elevation: Ground: 2868 Kelly Bushing: 2873
Y Now Mall Be Entry	Total Depth: 5560 Plug Back Total Depth: 5487 KB
_X New Well Re-Entry Workove CONFIDENTIAL Oil SWD SIOW Temp. Abd.	Amount of Surface Pipe Set and Cemented at 1720 6 1720 KB Feet
X Gas ENHR SIGW	Multiple Stage Cementing Collar Used?
Dry Other (Core, WSW, Expl., Cathodic, etc)	
If Workover/Re-entry: Old Well Info as follows:	If Alternate II completion, cement circulated from
Operator:	feet depth to w/sx cmt.
Well Name:	Drilling Fluid Management Plan ##1 EH 5.13.02.
Original Comp. Date: Original Total Depth:	(Data must be collected from the Reserve Pit)
Deepening Re-perf Conv. to Enhr./SWD	Chloride content 12,000 ppm Fluid volume 2,000 bbls
Plug BackPlug Back Total Depth	Dewatering method used Evaporation
Commingled Docket No. Parking	Location of fluid disposal if hauled offsite:
Dual Completion Docket No	
Other (SWD or Enhr.?) Docket No	Operator NaRELEASED
10/20/01 11/03/01 II//I9//0F	Lease Name: License No.: Licens
pud Date or Date Reached TD Completion Date or	QuarterMARC 0 7 2003 TwpS. R East West
ecompletion Date Recompletion Date	County: Docket No.:
,	THOIST CONTINUE TO THE TANK TH
INSTRUCTIONS: An original and two copies of this form shall be filed with the Kansas 67202, within 120 days of the spud date, recompletion, workover information of side two of this form will be held confidential for a period of 12 107 for confidentiality in excess of 12 months). One copy of all wireline logs at TICKETS MUST BE ATTACHED. Submit CP-4 form with all plugged wells.	r or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. It months if requested in writing and submitted with the form (see rule 82-3-110 and geologist well report shall be attached with this form. ALL CEMENTING
	e the oil and gas industry have been fully complied with and the statements
erein are complete and correct to the best of my knowledge.	
ignature: Those 2. Mensember	/ KCC Office Use ONLY
Roscoe L. Mendenhall	11061
tle: Petroleum Engineer Date: 01/14/02	Letter of Confidentiality Attached
obscribed and sworn to before me this <u>14th</u> day of <u>January</u>	Il Denied, Yes Date:
<u>× 2002</u>	Wireline Log Received
6. S. W.	Geologist Report Received
otary Public: Three To Feller Ginger L. Kelley	UIC Distribution
ate Commission Expires: KELLEY July 1, 2004	
My Appt. Expires 22-21-2006	
My Appt. Expires 09-01-2004	.

Operator Name:	Stelbar Oil	Corpor	cation, In	c. Lease	Name:	_ Lower		_ Well,#: <u>1-1</u>	8	
Sec. 18 Twp/	31 /1 s ∩ 32		ast 🗷 West	Count	y:	Seward			Virit.	
ار لیا : INSTRUCTIONS:	Nグロリナ Show important to	I U ns and has	e of formations	nonetrated	Detail			f drill stame tasts	s giving interies	
tested, time tool op	en and closed, flo	wing and s	hut-in pressures	, whether sl	بارتهاء hut-in pi	ressure reached	static level, hydro	ostatic pressures.	, bottom hole	
temperature, fluid re	ecovery, and flow	rates if gas	to surface test,	along with f						
Electric Wireline Lo	gs surveyed. Atta	ch final ge	ological well site	report.						
Dell Phone Tooks Tale								-3 5-4	==-	
Drill Stem Tests Tak (Attach Additional		<u>22</u>	Yes No		Form	Log Formati nation	ion (Top), Depth a Sample	nd Datum E-Log	Sample	
_	·	=	Yes No	•	Heel		$\frac{54152}{4152}$ -12		-1279	
, , ,			= L			ensing 4256 -1383 4257 -1384				
Cores Taken Electric Log Run		_	Yes bookNo cYes ⊡No				4732 -18 4868 -19		-1859 -1992	
(Submit Copy)		<u>~</u>	,105 <u> </u>		i	rokee Shal			-1992 -2167	
.ist All E. Logs Run	:					ka Zn. Por			-2475	
.∕High Resol	lution I <mark>nd</mark> uc					cow Shale	5380 -25		-2497	
Spectral I	Denisty Dual	Space	d Neutron	II Log.		er Morrow:: s-Chester	SS 5459 -25 5475 -26		−2585 −2594	
.vmicrolog.					1/4		3473 -20	UZ J4U1	-2334	
•		_		RECORD	X N					
	Size Hole		ion all strings set- lize Casing	Weig		ermediate, product	Type of	# Sacjs	Type and Percent	
Purpose of String	Drilled		et (In O.D.)	Lbs. /		Depth	Cement	Used .	Additives	
Surface	12 1/4"	8 5	'8' '	23#		1720'KB	390 sx. A-Co:	n Light Ceme ele followe	ent w/3% cc & ed by 150 sx.	
	: 3%	. 1	/au	10 54	_	FFF01VD	common w/2%			
roduction		4 1/		10.5#		5558 ' KB	.8% fluid lo		cement cont.	
			<u> </u>	<u> </u>		<u></u>	cellflake.		ement w/500 g	
	-,		ADDITIONAL	CEMENTIN	G / SQL	JEEZE RECORD				
Purpose: Perforate	Depth Top Bottom	Type of Cement		#Sacks Used		Type and Percent Additives				
Protect Casing		-								
Plug Back TD Plug Off Zone	<u> </u>	 -	<u> </u>			<u> </u>	<u> </u>			
				<u> </u>						
	DEDECTE:	TON DECO		- C-475	,	8 - 1 - 6 - C				
Shots Per Foot	Specif	y Footage of	Each Interval Per	torated			iture, Shot, Cement S Count and Kind of Mate		Depth	
4 SPF	5458 ' - 546	6" (8")),				7/684 bbls. 7			
			_			CO2) cont.	<u>bb1s.ge11ed</u> 34,000 lbs.	20/40 sand		
	<u> </u>	· ·				Adid fracu	/2000 gals.	209 HCI and	62401	
4 SPF	5349' - 53'	(4")					emulsified 2		1 5349' - 53'	
								-		
		-					-			
BING RECORD	Size	Set A		Packer At		Liner Run				
	2 3/8"	5420		,			Yes 🛣 No			
e of First, Resumend	Production, SWD or	Enhr.	Producing Meth	lod				<u>, </u>		
aiting on Pip	peline Conne	ction			Flowing	Pumpin	g 🔲 Gas Lift	Other (£	xplain)	
imated Production Per 24 Hours	Oil	Bbls.		Mcf	Water		ls. Ga	s-Oil Ratio	Gravity	
	0		800		0		<u> </u>	N/A 		
position of Gas	METHOD OF	COMPLETIC	ON ,			Production Interv	 al			
Vented X Sold	Used on Lease		Open Hole	X Perl.	D.	ually Comp.	X Commingled _5	<u> 458' - 66'</u>		
(If vented, Sun	nit ACO-18.)		Other (Specify	v)			<u>_5</u>	<u> 349' - 53'</u>		



CONFIDENTIAL

SALES OFFICE: 105 S. Broadway Suite #420 Wichita KS 67202 (316) 262-3698 (316) 262-5799 FAX **SALES & SERVICE OFFICE:** 10244 NE Hiway 61 P.O. Box 8613 Pratt. KS 67124-8613 (316) 672-1201 (316) 672-5383 FAX

ACIDIZING - FRACTURING - CEMENTING

			nvoice		ORIG	INAL	
Bill to:	STELBAR OIL CORPOR	RECENT CANSAS CORPORATION	1101 V CC	00 10/		120 10/2	- Date 2/01
	WICHITA, KS 67202	FJAN 16	Cement 2002				
		CONSERVATION	D	Lease Lower		Well 1-18	
A	FE CustomerRep B. Craig	Treater K Gordley	Weit New We		ırchase Order ———-	Terms Net 30	
<u>ID.</u>	Description		UOM	Quantity	Unit Price	Price	
.D260	COMMON		SK.	150	\$10.25	\$1,537.50	
D201	A-CON BLEND (COMM	ON)	SK	390	\$13.00	\$5,070.00	
C310	CALCIUM CHLORIDE	011)	LBS	1383	\$0.75	\$1,037.25	
C195	CELLFLAKE		LB	127	\$1.85	\$234.95	
F103	CENTRALIZER, 8 5/8"	•	EA	3	\$90.00	\$270.00	
F113	BASKET, 8 5/8"		EA	1	\$290.00	\$290.00	
F133	TOP RUBBER CEMENT	PLUG, 8 5/8"	EA	1	\$145.00	\$145.00	
E107	CEMENT SERVICE CHA	RGE	SK	540	\$1.50	\$810.00	
E100	HEAV! VEHICLE MILE	AGE - 1 WAY	MI	100	\$3.00	\$300.00	
E104	PI: OPPANT / BULK DEI MILE, \$200 MIN	IV SERVICES/TON	TM	2538	s \$1.25	\$3,172.50	
R204	CASING CEMENT PUM	PER, 1501-2000'	EA	1	\$1,310.00	\$1,310.00	
R701	CEMENT HEAD RENTA	L	EA	1	\$250.00	\$250.00	<u> </u>
	A- 1-0				Sub Total:	\$14,427.20	
- NO,	WCT/80 INVE	NCE NU. <u>/10/00</u>			Discount:	\$4,760.97	
	10-270 pisc	#C# 8094100)		Sub Total:	\$9,666.23	
14	· · · · · · · · · · · · · · · · · · ·		Tax Rate:	5.90%	Taxes:	\$0.00	
<u> </u>	END USE NO.	AMOUNT?	Taxable Item		Total:	\$9,666.23	
00/02	<u></u>	9666.23	3				_
		·	REL	EASED			
			MAR 0	7 2003	0	102	_
		E	ROM COI	NFIDENT	10Z2	?	<u>**</u>



SALES OFFICE:

105 S. Broadway Suite #420 Wichita KS 67202 (316) 262-3699 (316) 262-5799 FAX

SALES & SERVICE OFFICE: 10244 NE Hiway 61 P.O. Box 8613 Prett, KS 67124-8613 (316) 672-1201 (316) 672-5383 FAX

ACIDIZING - FRACTURING - CEMENTING

STELBAR OIL CORPORATION STELBAR OIL CORPORATION STELBAR OIL CORPORATION Stervice Description Stervice De		1 4 2002	Invoice	2	UNIC		
STELBAR OIL CORPORATION Comment Service Description	Bill to:	JAN					
Sub Total: Stand		STELBAR OIL CORPOR GNEDENTIAL	NET 11				/01
CustomerRep		155 N MARKET #500	TION CO		ervice Descri	ption	
CustomerRep		WICHITA, KS 67202 KANSAS CORPURP	Cemer	nt			
Production Pro			6 2002				
Production Pro		JAN "	. 0 -	Leaso		Well	
Roscoe Mendenhall T. Seba New Well Net 30		Produces	TION MINT			-	
D. Description UOM Quantity Unit Price Price	AFI						
D105 AA2 (PREMIUM) RELEASED SK 200 \$13.56 \$2,712.00 D203 60/40 POZ (COMMON) SK 25 \$7.75 \$193.75 C140 KCL, POTASSIUM CHLORIDE ILB 301 \$0.30 \$90.30 C243 DEFOAMER LB 19 \$3.00 \$57.00 C196 FLA-322 ROM CONFIDENTIALB 151 \$7.25 \$1,094.75 C195 CELLFLAKE LB 51 \$1.85 \$94.35 C197 WCA-1 LB 21 \$25.00 \$525.00 F150 LATCH DOWN PLUG & BAFFLE, 4 1/2" EA 1 \$230.00 \$230.00 F180 AUTO FILL FLOAT SHOE, 4 1/2" EA 1 \$270.00 \$230.00 F100 CENTRALIZER, 4 1/2" EA 1 \$270.00 \$230.00 F100 CENTRALIZER, 4 1/2" EA 10 \$670.00 \$670.00 C303 "B" FLUSH GAL 500 \$4.25 \$2,125.00 F800 THREADLOCK COMPOUND KIT EA 1 \$30.00 \$30.00 R701 CEMENT HEAD RENTAL EA 1 \$250.00 \$250.00 R702 CASING SWIVEL RENTAL EA 1 \$250.00 \$250.00 R703 CASING SWIVEL RENTAL EA 1 \$125.00 \$125.00 E100 HEAVY VEHICLE MILEAGE - 1 WAY MI 100 \$3.00 \$300.00 E104 PROPPANTS BULK DELIV SERVICES TON TM 1050 \$1.25 \$1,312.50 R211 CASING CEMENT PUMPER, 50 N 694 \$0.00 \$1 \$1,850.00 \$1,850.00 Sub Total: \$11,889.65		Roscoe Mendenhall T. Seba	New V	Vell		Net 30	
D203 60/40 POZ (COMMON) SK 25 \$7.75 \$193.75 C140 KCL, POTASSIUM CHLORIDE	ID.	<u>Description</u>	<u>UOM</u>	Quantity	Unit Price	Price	
C140 KCL, POTASSIUM CHLORIDE 3 LB 301 \$0.30 \$90.30 C243 DEFOAMER LB 19 \$3.00 \$57.00 C196 FLA-322 FROM CONFIDENTIALB 151 \$7.25 \$1,094.75 C195 CELLFLAKE LB 51 \$1.85 \$94.35 C197 WCA-1 LB 21 \$25.00 \$525.00 F150 LATCH DOWN PLUG & BAFFLE, 4 1/2" EA 1 \$230.00 \$230.00 F180 AUTO F!LL FLOAT SHOE, 4 1/2" EA 1 \$200.00 \$230.00 F100 CENTRALIZER, 4 1/2" EA 1 \$200.00 \$230.00 F100 CENTRALIZER, 4 1/2" EA 10 \$67.00 \$670.00 C303 "B" FLUEH GAL 500 \$4.25 \$2,125.00 F800 THREADLOCK COMPOUND KIT EA 1 \$30.00 \$30.00 R701 CEMENT HEAD RENTAL EA 1 \$250.00 \$250.00 R702 CASING SWIVEL RENTAL EA 1 \$125.00 \$125.00 E100 HEAVY VEHICLE MILEAGE - 1 WAY MI 100 \$3.00 \$300.00 E104 PROPPAND BULK DELIV SERVICES/TON, FM 1050 \$1.25 \$1,312.50 FM 1050 CASING CEMENT PUMPER, 50 FEM 1050 \$1.850.00 \$1,850.00 FR211 CASING CEMENT PUMPER, 50 FEM 1050 \$1.850.00 \$1,850.00 FM 1050 \$1.850.00 \$1,850.00	D105	AA2 (PREMIUM) RELEASE	D SK	200	\$13.56	\$2,712.00	
C243 DEFOAMER C196 FLA-322 FROM CONFIDENTIALB C195 CELLFLAKE C195 CELLFLAKE C196 LATCH DOWN PLUG & BAFFLE, 4 1/2" EA C197 WCA-1 LB C197 LATCH DOWN PLUG & BAFFLE, 4 1/2" EA C198 CENTRALIZER, 4 1/2" EA C199 CENTRALIZER, 4 1/2" E	D203	60/40 POZ (COMMON)	SK	25	\$7.75	\$193.75	
C196 FLA-322 FROM CONFIDENTIALB 151 \$7.25 \$1,094.75 C195 CELLFLAKE LB 51 \$1.85 \$94.35 C197 WCA-I LB 21 \$25.00 \$525.00 F150 LATCH DOWN PLUG & BAFFLE, 4 1/2" EA 1 \$230.00 \$230.00 F180 AUTO FILL FLOAT SHOE, 4 1/2" EA 1 \$270.00 \$230.00 F100 CENTRALIZER, 4 1/2" EA 1 \$270.00 \$230.00 F100 CENTRALIZER, 4 1/2" EA 10 \$67.00 \$670.00 C303 "B" FLUSH GAL 500 \$7.25 \$2,125.00 F800 THREADLOCK COMPOUND KIT EA 1 \$30.00 \$30.00 R701 CEMENT HEAD RENTAL EA 1 \$250.00 \$250.00 R702 CASING SWIVEL RENTAL EA 1 \$125.00 \$125.00 E100 HEAVY VEHICLE MILEAGE - 1 WAY MI 100 \$3.00 \$300.00 E104 PROPPANTO BULK DELIV SERVICES TON EM 1050 \$1.25 \$1,312.50 F101 CASING CEMENT PUMPER, 50 F102 CASING CEMENT PUMPER, 50 F103 CASING CE	C140	KCL, POTASSIUM CHLORIDE	3 LB	301	\$0.30	\$90.30	
C195 CELLFLAKE C197 WCA-1 LB 21 \$25.00 \$525.00 F150 LATCH DOWN PLUG & BAFFLE, 4 1/2" EA 1 \$230.00 \$230.00 F180 AUTO FILL FLOAT SHOE, 4 1/2" EA 1 \$270.00 \$230.00 F100 CENTRALIZER 4 1/2" EA 10 \$67.00 \$670.00 C303 "B" FLUCH GAL 500 \$7.25 \$2,125.00 F800 THREADLOCK COMPOUND KIT EA 1 \$30.00 \$30.00 R701 CEMENT HEAD RENTAL EA 1 \$250.00 \$250.00 R702 CASING SWIVEL RENTAL EA 1 \$125.00 \$125.00 E100 HEAVY VEHICLE MILEAGE - 1 WAY MI 100 \$3.00 \$300.00 E104 PROPPANT BULK DELIV SERVICES TON FM 1050 \$1.25 \$1,312.50 AVILLE, \$200 MIN 1050 \$1,850.00 Sub Total: \$11,889.65	C243	DEFOAMER	LB	19	\$3.00	\$57.00	
C197 WCA-1 F150 LATCH DOWN PLUG & BAFFLE, 4 1/2" EA F180 AUTO FILL FLOAT SHOE, 4 1/2" EA F180 AUTO FILL FLOAT SHOE, 4 1/2" EA F100 CENTRALIZER, 4 1/2" EA F100 CENTRALIZER, 4 1/2" EA F100 CENTRALIZER, 4 1/2" EA F100 S67.00 F100 CENTRALIZER, 4 1/2" EA F100 S67.00 F100 CENTRALIZER, 4 1/2" EA F100 S67.00 F100 S67.00 F100 S67.00 F100 S30.00 F100 THREADLOCK COMPOUND KIT EA F100 S30.00 F101 CEMENT HEAD RENTAL F101 EA F102 CASING SWIVEL RENTAL F103 F104 PROPPANT BULK DELIV SERVICES TON EM F100 F104 PROPPANT BULK DELIV SERVICES TON EM F105 F105 S1,850.00 F106 F106 CEMENT PUMPER, 50 F106 S074 S074 S074 S074 S074 S074 S074 S074	C196	FLA-322 FROM CONFIDE	NTIALB	151	\$7.25	\$1,094.75	
F150 LATCH DOWN PLUG & BAFFLE, 4 1/2" EA 1 \$230.00 \$230.00 F180 AUTO FILL FLOAT SHOE, 4 1/2" EA 1 \$250.00 \$230.00 F100 CENTRALIZER, 4 1/2" EA 10 \$67.00 \$670.00 C303 "B" FLUCH GAL 500 \$1, 25 \$2,125.00 F800 THREADLOCK COMPOUND KIT EA 1 \$30.00 \$30.00 R701 CEMENT HEAD RENTAL EA 1 \$250.00 \$250.00 R702 CASING SWIVEL RENTAL EA 1 \$125.00 \$125.00 E100 HEAVY VEHICLE MILEAGE - 1 WAY MI 100 \$3.00 \$300.00 E104 PROPPANE BULK DELIV SERVICES TON THE 1050 \$1.25 \$1,312.50 FM 1050 FILES \$1,312.50 FM 1050 FILES \$1,312.50 FM 1050 FILES \$1,312.50 FM 1050 FILES \$1,889.65	C195	CELLFLAKE	LB	51	\$1.85	\$94.35	
F180 AUTO FILL FLOAT SHOE, 4 1/2" EA 1 \$2,0.00 \$230.00 F100 CENTRALIZER, 4 1/2" EA 10 \$67.00 \$670.00 C303 "B" FLUSH GAL 500 \$4,25 \$2,125.00 F800 THREADLOCK COMPOUND KIT EA 1 \$30.00 \$30.00 R701 CEMENT HEAD RENTAL EA 1 \$250.00 \$250.00 R702 CASING SWIVEL RENTAL EA 1 \$125.00 \$125.00 E100 HEAVY VEHICLE MILEAGE - 1 WAY MI 100 \$3.00 \$300.00 E104 PROPPANT BULK DELIV SERVICES TON THE 1050 \$1.25 \$1,312.50 F100 TWILE, \$200 MIN 1050 \$1.25 \$1,312.50 F100 TOTAL \$250.00 S1,850.00 S1,850	C197	WCA-I	LB	21	\$25.00	\$525.00	
F100 CENTRALIZER 4 1/2" EA 10 \$67.00 \$670.00 C303 "B" FLUCH GAL 500 \$4.25 \$2,125.00 F800 THREADLOCK COMPOUND KIT EA 1 \$30.00 \$30.00 R701 CEMENT HEAD RENTAL EA 1 \$250.00 \$250.00 R702 CASING SWIVEL RENTAL EA 1 \$125.00 \$125.00 E100 HEAVY VEHICLE MILEAGE - 1 WAY MI 100 \$3.00 \$300.00 E104 PROPPANT BULK DELIV SERVICES TON TM 1050 \$1.25 \$1,312.50 PROPPANT BULK DELIV SERVICES TON TM 1050 \$1.25 \$1,312.50 PROPPANT CASING CEMENT PUMPER, 50 FEM 1050 \$1,850.00 \$1,850.00 Sub Total: \$11,889.65	F150	LATCH DOWN PLUG & BAFFLE, 4 1/2"	EA	1	\$230.00	\$230.00	
C303 "B" FLUEH GAL 500 \$1,25 \$2,125.00 F800 THREADLOCK COMPOUND KIT EA 1 \$30.00 \$30.00 R701 CEMENT HEAD RENTAL EA 1 \$250.00 \$250.00 R702 CASING SWIVEL RENTAL EA 1 \$125.00 \$125.00 E100 HEAVY VEHICLE MILEAGE - 1 WAY MI 100 \$3.00 \$300.00 E104 PROPPANT BULK DELIV SERVICES TON THE 1050 \$1.25 \$1,312.50 R211 CASING CEMENT PUMPER, 50 FEM 50 \$1,850.00 Sub Total: \$11,889.65	F180	AUTO F!LL FLOAT SHOE, 4 1/2"	EA	1.	\$200.00	\$230.00	
F800 THREADLOCK COMPOUND KIT EA 1 \$30.00 \$30.00 R701 CEMENT HEAD RENTAL EA 1 \$250.00 \$250.00 R702 CASING SWIVEL RENTAL EA 1 \$125.00 \$125.00 E100 HEAVY VEHICLE MILEAGE - 1 WAY MI 100 \$3.00 \$300.00 E104 PROPPANT BULK DELIV SERVICES TON TM 1050 \$1.25 \$1,312.50 R211 CASING CEMENT PUMPER, 50 FEM SOPE 100 1 \$1,850.00 \$1,850.00 Sub Total: \$11,889.65	F100	CENTRALIZER, 4 1/2"	EA	10	\$67.00	\$670.00	
R701 CEMENT HEAD RENTAL EA 1 \$250.00 \$250.00 R702 CASING SWIVEL RENTAL EA 1 \$125.00 \$125.00 E100 HEAVY VEHICLE MILEAGE - 1 WAY MI 100 \$3.00 \$300.00 E104 PROPPANT BULK DELIV SERVICES TON TM 1050 \$1.25 \$1,312.50 E101 CASING CEMENT PUMPER, 50 1604 SOPE 100 1 \$1,850.00 \$1,850.00 Sub Total: \$11,889.65	C303	"B" FLUSH	GAL	500	\$4.25	\$2,125.00	
R702 CASING SWIVEL RENTAL EA 1 \$125.00 \$125.00 E100 HEAVY VEHICLE MILEAGE - 1 WAY MI 100 \$3.00 \$300.00 E104 PROPPANT BULK DELIV SERVICES/TON, TM 1050 \$1.25 \$1,312.50 E104 CASING CEMENT PUMPER, 50 F604 SOPA/OO 1 \$1,850.00 \$1,850.00 Sub Total: \$11,889.65	F800	THREADLOCK COMPOUND KIT	EA	1	\$30.00	\$30.00	
E100 HEAVY VEHICLE MILEAGE - 1 WAY MI 100 \$3.00 \$300.00 E104 PROPPANT BULK DELIV SERVICES TON TM 1050 \$1.25 \$1,312.50 E101 CASING CEMENT PUMPER, 50 F604 SOFE 100 1 \$1,850.00 \$1,850.00 Sub Total: \$11,889.65	R701	CEMENT HEAD RENTAL	EA	1	\$250.00	\$250.00	
E104 PROPPANT BULK DELIV SERVICES TON TM 1050 \$1.25 \$1,312.50 PM 1050	R702	CASING SWIVEL RENTAL	EA	1	\$125.00	\$125.00	
R211 CASING CEMENT PUMPER, 50 1 50 50 1 \$1,850.00 \$1,850.00 Sub Total: \$11,889.65	E100	HEAVY VEHICLE MILEAGE - 1 WAY	MI	100	\$3.00	\$300.00	
Sub Total: \$11,889.65	E104 ⊮ №0.		P82 EM_	1050	\$1.25	\$1,312.50	
Sub Total: \$11,889.65	R211	CASING CEMENT PUMPER, 500 1604	8094/00	1	\$1,850.00	\$1,850.00	
	: 18U. T.	<u></u>	entitioning in the second seco	_	Sub Total:	\$11,889.65	

Tax Rate: 5.90%

Discount: Discount Sub Total: Taxes:

\$8,559.00 \$0.00

MAR 0 7 2003

(T) Taxable Item

Total:

\$8,559.00

\$3,330.65

FROM CONFIDENTIAL

PLEASE REMIT TO Acid Services, LLC, Dept No 1131, Tulsa, OK 74182

Accounts become past due the last day of the month following billing. Interest rate 1.5% per month (18% per year) on past due accounts.

TOTAL